
شھادة الضمان ودلیل المستخدم

20.84.1305.01



- 2 -

1 / 1

 13.07.01.108 x 6 13.07.01.110 x 6 13.01.01.111 x  6

13.01.01.888 x 6 

Ø8

1 / 1

18.84.1305.051 x 1 18.84.1305.052 x 1 18.84.1305.053 x 1 18.84.1305.251 x1

13.03.01.029 x 4
M6x30

13.03.01.010 x 2
M4x22

1
13.01.01.111 x 6

13.07.01.110 x 6

Ø8

 13.07.01.108 x 6

2

18.84.1305.051

18.84.1305.053 18.84.1305.052 

13.07.01.016 x 1
M6



- 3 -

3

13.01.01.888 x 6

6x

18.84.1305.051

18.84.1305.053

18.84.1305.052

13.02.01.010 x 2
M4x22

18.84.1305.251

20.84.1706.01
20.84.1302.00A
B

13.07.01.016 x 1

4

5

M6x30
13.03.01.029 x 4



- 4 -


